
E-Z-GO Med./TXT Brush Guard 

Installation Instructions 

Black- Part# 30844 

Gunmetal- Part# 28373 

Stainless- Part# 29101 

 

Parts List 

Brush Guard-1 

5/16 x 3 Bolts-4 

5/16 x 1 Bolts-4 

3/8 Locknuts-8 

Flatwashers-8 

Passenger Side Mount-1 

Driver Side Mount-1 

  

 

 

 

 

         

 

1.  For easy installation we recommend you have 2 people to hold 

the roof in place while installing brush guard.   

2. Remove the stock bolts, washers, & spacers from the cart and 

have a partner hold the roof in place.  If you don’t have help 

available prop the roof up with a broom handle. 

3. Use an 11/32 drill bit to enlarge the stock roof holes on both sides 

of the cart as shown in Figure 1. 

4. Using the supplied 5/16 x 3 bolts, locknuts, washers, stock 

spacers, and stock washers loosely install the driver side & 

passenger side mounting brackets.  These parts are not universal.  

The brackets bolt inside the channel of the frame as shown in 

Figure 2. 

5. Using the supplied 5/16 x 1 bolts, washers, & locknuts install the 

brush guard to both mounting brackets. 

6. Securely tighten all bolts.   


